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1 Question Description “Face to Pubis” delivery incidence is more with:

A Android Pelvis

B Gynaecoid Pelvis

C Platypelloid Pelvis

D Anthropoid Pelvis

E None of the above

Correct Answer D

Marks 1



2 Question Description Congestive cardiac failure in a patient with Heart Disease is more likely at:

A 32 weeks

B At term

C First stage of labour

D Immediate after Delivery

E None of the above

Correct Answer D

Marks 1

3 Question Description A patient with 10 weeks pregnancy is diagnosed with an uncomplicated Dermoid cyst, it should be removed at:

A Immediately

B Between 14- 16 weeks

C After delivery

D At term along with caesarean section

E None of the above

Correct Answer B

Marks 1



4 Question Description The most malignant Endometrial cancer is

A Adenocarcinoma

B Adenoacanthoma

C Adenosquamous carcinoma

D Clear cell carcinoma

E None of the above

Correct Answer D

Marks 1

5 Question Description Non immune Hydrops Foetalis can be seen in except:

A Parvo B-19 Virus infection

B AIDS Virus

C Cytomegalo Virus

D Syphilis

E None of the above

Correct Answer B

Marks 1



6 Question Description Following Intrauterine foetal death spontaneous Labour will generally begin within two weeks in :

A 25% of patients

B 50% of patients

C 75% of patients

D 90% of patients

E None of the above

Correct Answer C

Marks 1

7 Question Description Which of the following ovarian Tumour is associated with “Meigs Syndrome”

A Fibroma

B Serous Cystadenoma

C Dermoid

D Sarcoma

E None of the above

Correct Answer A

Marks 1



8 Question Description The most Common Cause of Fallopian Tube blockage in India is

A Gonorrhea

B Chlamydia

C Tuberculosis

D Syphilis

E None of the above

Correct Answer C

Marks 1

9 Question Description Oral tablets “presently” supplied by Government of India under National Programme for Pregnant women contain:

A 60 mg of Elemental Iron and 500 µgm of Folic Acid

B 100mg of Elemental Iron and 500 µgm of Folic Acid

C 100mg of Elemental Iron and 1mg of Folic Acid

D 60mg of Elemental Iron and 5mg of Folic Acid

E None of the above

Correct Answer B

Marks 1



10 Question Description “Most” accurate diagnosis of Anencephaly on ultra sonography is made at:

A 6 weeks

B 8 weeks

C 10 weeks

D 14 weeks

E None of the above

Correct Answer D

Marks 1

11 Question Description The engaging diameter of after-coming head in Breech delivery is:

A Sub occipito- bregmatic

B Sub occipito -frontal

C Occipito- frontal

D Submento-Vertical

E None of the above

Correct Answer C

Marks 1



12 Question Description Amniotic Fluid is “mainly” produced by:

A Amnion

B Chorion

C Placenta

D Foetus

E None of the above

Correct Answer D

Marks 1

13 Question Description The pain associated with Endometriosis correlates with:

A Multiple Sites

B Depth of the Lesions

C Stage of the disease

D Increase in CA-125

E None of the above

Correct Answer B

Marks 1



14 Question Description In which part of fallopian tube ectopic pregnancy will have longest survival:

A Isthmus

B Ampulla

C Cornua

D Interstitium

E None of the above

Correct Answer D

Marks 1

15 Question Description The Commonest cause of Primary Amenorrhea is :

A Genital Tuberculosis

B Ovarian Dysgenesis

C Asherman’s Syndrome

D Mullerian Duct Anomalies

E None of the above

Correct Answer B

Marks 1



16 Question Description The Progesterone of choice of Emergency contraception is :

A Nor-ethisterone

B Medroxy Progesterone

C Levo norgestrel

D Desogestrel

E None of the above

Correct Answer C

Marks 1

17 Question Description If the division of fertilized ovum occurs between 4  and 8  day , the kind of Twin Pregnancy it will give rise to is :

A Diamniotic Dichorionic

B Diamniotic Monochorionic

C Monoamniotic Monochorionic

D Conjoined Twins

E None of the above

Correct Answer B

Marks 1

th th



18 Question Description All of the following drugs are used in the treatment of post-partum haemorrhage except:

A Misoprostol

B Mifepristone

C Carboprost

D Methyl Ergometrine

E None of the above

Correct Answer B

Marks 1

19 Question Description For Medical Termination of Pregnancy (MTP) consent should be obtained from :

A Female Partner

B Male Partner

C Female as well as male partner

D Consent not required

E None of the above

Correct Answer A

Marks 1



20 Question Description The best gas used for creating Pneumo-peritoneum for Laparoscopy is:

A Oxygen

B Carbon Dioxide

C Nitrogen

D Nitrous oxide

E None of the above

Correct Answer B

Marks 1

21 Question Description Sexual development in adolescent girls occur in following order:

A Pubarche,Thelarche, Menarche, Growth Spurt

B Thelarche,Pubarche,Growth Spurt,Menarche

C Growth Spurt, Pubarche,Thelarche,Menarche

D Pubarche,Menarche,Thelarche,Growth Spurt

E None of the above

Correct Answer B

Marks 1



22 Question Description The accepted minimum period of sexual cohabilitation resulting in no offspring for a couple to be considered “Infertile” is:

A 6 months

B 12 months

C 18 months

D 24 months

E None of the above

Correct Answer B

Marks 1

23 Question Description Pick up the wrong one:
In relation to Post pill amenorrhea

A It is due to the effect of oestrogen and Progesterone

B May be associated with galactorrhea

C It is Pituitary in origin

D It is more Common with preexisting DUB(Dysfunctional Uterine Bleeding)

E None of the above

Correct Answer C

Marks 1



24 Question Description “Cal Exner Bodies” are seen in this cvarian Tumour

A Dysgerminoma

B Theca cell Tumour

C Granulosa cell tumour

D Arrhenoblastoma

E None of the above

Correct Answer C

Marks 1

25 Question Description The most significant finding in cardiotocography for detection of foetal hypoxia is:

A Early deceleration

B Variable deceleration

C Late Deceleration

D Sinusoidal pattern

E None of the above

Correct Answer C

Marks 1



26 Question Description Most important diameter of Pelvis during Labour for normal outcome is :

A A-P diameter of outlet

B Oblique diameter of Inlet

C Inter spinous diameter

D Inter tuberous diameter

E None of the above

Correct Answer C

Marks 1

27 Question Description The fertilizable Life span of oocyte is:

A 24 hours

B 36 hours

C 48 hours

D 72 hours

E None of the above

Correct Answer A

Marks 1



28 Question Description The Commonest cause of Pyometra is:

A Carcinoma of cervix

B Carcinoma of Endometrium

C Vaginitis

D Senile endometritis

E None of the above

Correct Answer B

Marks 1

29 Question Description Classical Location of Placenta Praevia is:

A Anterior

B Posterior

C Central

D Lateral

E None of the above

Correct Answer B

Marks 1



30 Question Description WHO definition of minimal normal sperm count is:

A 10 millions/ml

B 20 millions/ml

C 40 millions/ml

D 60 millions/ml

E None of the above

Correct Answer B

Marks 1



31 Comprehension Read the following passage and answer the questions below:
Until recently, Japanese corporates have not been interested in using either local or foreign business schools for the development of
their future executives. Their in-company programmes have sought the socialisation of the newcomers, the younger the better. The
training is highly specific and those who receive it, have neither the capacity nor the incentive to quit. The prevailing belief says
Imai, is that management should be born out of experiences and many years of efforts and not learnt from educational institutions.
A 1960s survey of Japanese senior executives confirmed that a majority (54%) believed that management capabilities can be
attained only on the job and not in universities. However, this view seems to be changing: the same survey revealed that even as
early as 1960, 37% of senior executives felt that the universities should teach integrated professional management.

Question Description From the options provided below, select the one which indicates the shortcomings of the in-company

A It is too specific to capacitate or incentivise to move to other avenues

B it is obtained on the job, not in the educational institutions/universities

C it seeks socialization of the preferably young newcomers

D it is obtained after years of experience /effort

E None of the above

Correct Answer A

Marks 1

32



Comprehension Read the following passage and answer the questions below:
Until recently, Japanese corporates have not been interested in using either local or foreign business schools for the development of
their future executives. Their in-company programmes have sought the socialisation of the newcomers, the younger the better. The
training is highly specific and those who receive it, have neither the capacity nor the incentive to quit. The prevailing belief says
Imai, is that management should be born out of experiences and many years of efforts and not learnt from educational institutions.
A 1960s survey of Japanese senior executives confirmed that a majority (54%) believed that management capabilities can be
attained only on the job and not in universities. However, this view seems to be changing: the same survey revealed that even as
early as 1960, 37% of senior executives felt that the universities should teach integrated professional management.

Question Description Arrange the following statements in their logical order so as to read like an integral argument:
i. The socialization of the newcomers entails hand-on experiences and long effort

ii. Japanese Corporates trust their own in-company training for their business executives

iii. It is widely believed that managerial capabilities can be built only on the job and not in the business schools.

iv. A shortcoming of this process is that the training is often too precise for wider application and greener pastures.

A (i); (ii); (iii); and (iv)

B (iii); (ii); (i); and (iv)

C (ii); (iii); (i); and (iv)

D (ii); (iii); (iv); and (i)

E None of the above

Correct Answer C

Marks 1



33 Comprehension Read the following passage and answer the questions below:
Until recently, Japanese corporates have not been interested in using either local or foreign business schools for the development of
their future executives. Their in-company programmes have sought the socialisation of the newcomers, the younger the better. The
training is highly specific and those who receive it, have neither the capacity nor the incentive to quit. The prevailing belief says
Imai, is that management should be born out of experiences and many years of efforts and not learnt from educational institutions.
A 1960s survey of Japanese senior executives confirmed that a majority (54%) believed that management capabilities can be
attained only on the job and not in universities. However, this view seems to be changing: the same survey revealed that even as
early as 1960, 37% of senior executives felt that the universities should teach integrated professional management.

Question Description Read the following statements carefully and state whether they are true or false:
i. Japanese corporates had preferred their own in-company programmes over business schools for the development of their

future executives.

ii. However, there are signs that this has slowly begun to change

A Statement (i) is true but statement (ii) is false

B Statement (i) is false but statement (ii) is true

C Statements (i) and (ii) are both true

D Statements (i) and (ii) are both false

E None of the above

Correct Answer C

Marks 1



34 Comprehension Read the following passage and answer the questions below:
Until recently, Japanese corporates have not been interested in using either local or foreign business schools for the development of
their future executives. Their in-company programmes have sought the socialisation of the newcomers, the younger the better. The
training is highly specific and those who receive it, have neither the capacity nor the incentive to quit. The prevailing belief says
Imai, is that management should be born out of experiences and many years of efforts and not learnt from educational institutions.
A 1960s survey of Japanese senior executives confirmed that a majority (54%) believed that management capabilities can be
attained only on the job and not in universities. However, this view seems to be changing: the same survey revealed that even as
early as 1960, 37% of senior executives felt that the universities should teach integrated professional management.

Question Description “Until recently, Japanese corporates have not been interested in using either local or foreign business schools for the development
of their future executives”.
The above statement implies that the Japanese Corporates are

A inclined towards some local or foreign business schools

B hardly interested in the development of their future executives

C not interested in trained business executives

D gradually revising their view of business schools

E None of the above

Correct Answer D

Marks 1



35 Comprehension Read the following passage and answer the questions below:
Until recently, Japanese corporates have not been interested in using either local or foreign business schools for the development of
their future executives. Their in-company programmes have sought the socialisation of the newcomers, the younger the better. The
training is highly specific and those who receive it, have neither the capacity nor the incentive to quit. The prevailing belief says
Imai, is that management should be born out of experiences and many years of efforts and not learnt from educational institutions.
A 1960s survey of Japanese senior executives confirmed that a majority (54%) believed that management capabilities can be
attained only on the job and not in universities. However, this view seems to be changing: the same survey revealed that even as
early as 1960, 37% of senior executives felt that the universities should teach integrated professional management.

Question Description From the options provided below, identify the one that is farthest in meaning to the term “incentive” as it is used in the passage

A demotion

B discouragement

C deterrent

D inducement

E None of the above

Correct Answer C

Marks 1



36 Comprehension Read the following passage and answer the questions given below:-

Arnold Toynbee said about Ramakrishna that ‘his religious activity and experience were comprehensive to a degree that had
perhaps never before been attained by any other religious genius in India or elsewhere’. You will hear only echoes of such words if
you go through some recent works on Ramakrishna published in the West. What is most important in all works for the
dissemination of Vedanta philosophy in its bearings on the idea of universal religion is to affirm, without any reservation, that this
ideal does not touch any religion as it exists but only urges a universal approach to all religions. By universal religion, Vivekananda
meant this mingling of faiths and he thought it was Vedanta, particularly Advaita Vedanta, which could bring about this mingling of
spiritual tunes in a grand harmony of faiths.

Question Description The statement, ‘his religious activity and experience were comprehensive to a degree that had perhaps never before been attained by
any other religious genius in
India or elsewhere’, implies that as a religious genius, his religious activity and experience were

A probably the first, and so far, the most comprehensive in the world

B likely to be the most comprehensive in India and elsewhere

C those which few others had attained in the past in India or elsewhere

D perhaps the best and comprehensive attainments in the world

E None of the above

Correct Answer A

Marks 1



37 Comprehension Read the following passage and answer the questions given below:-

Arnold Toynbee said about Ramakrishna that ‘his religious activity and experience were comprehensive to a degree that had
perhaps never before been attained by any other religious genius in India or elsewhere’. You will hear only echoes of such words if
you go through some recent works on Ramakrishna published in the West. What is most important in all works for the
dissemination of Vedanta philosophy in its bearings on the idea of universal religion is to affirm, without any reservation, that this
ideal does not touch any religion as it exists but only urges a universal approach to all religions. By universal religion, Vivekananda
meant this mingling of faiths and he thought it was Vedanta, particularly Advaita Vedanta, which could bring about this mingling of
spiritual tunes in a grand harmony of faiths.

Question Description Identify from the following options, the most crucial thing for Vedanta philosophy, mentioned in the passage:

A insistence on its dissemination without reservation

B affirmation of its universal approach to religion

C emphasis on its bearing on universal religion

D affirmation of ideal religion as its exists

E None of the above

Correct Answer B

Marks 1



38 Comprehension Read the following passage and answer the questions given below:-

Arnold Toynbee said about Ramakrishna that ‘his religious activity and experience were comprehensive to a degree that had
perhaps never before been attained by any other religious genius in India or elsewhere’. You will hear only echoes of such words if
you go through some recent works on Ramakrishna published in the West. What is most important in all works for the
dissemination of Vedanta philosophy in its bearings on the idea of universal religion is to affirm, without any reservation, that this
ideal does not touch any religion as it exists but only urges a universal approach to all religions. By universal religion, Vivekananda
meant this mingling of faiths and he thought it was Vedanta, particularly Advaita Vedanta, which could bring about this mingling of
spiritual tunes in a grand harmony of faiths.

Question Description Identify from the following options, the antonym of the word ‘dissemination’ as it is used in the passage:

A dissipation

B proclamation

C extirpation

D propagation

E None of the above

Correct Answer C

Marks 1



39 Comprehension Read the following passage and answer the questions given below:-

Arnold Toynbee said about Ramakrishna that ‘his religious activity and experience were comprehensive to a degree that had
perhaps never before been attained by any other religious genius in India or elsewhere’. You will hear only echoes of such words if
you go through some recent works on Ramakrishna published in the West. What is most important in all works for the
dissemination of Vedanta philosophy in its bearings on the idea of universal religion is to affirm, without any reservation, that this
ideal does not touch any religion as it exists but only urges a universal approach to all religions. By universal religion, Vivekananda
meant this mingling of faiths and he thought it was Vedanta, particularly Advaita Vedanta, which could bring about this mingling of
spiritual tunes in a grand harmony of faiths.

Question Description Identify the word that is farthest in meaning to the word ‘echo’ from the options given below:

A reflection

B reproduction

C reverberation

D facsimile

E None of the above

Correct Answer D

Marks 1

40



Comprehension Read the following passage and answer the questions given below:-

Arnold Toynbee said about Ramakrishna that ‘his religious activity and experience were comprehensive to a degree that had
perhaps never before been attained by any other religious genius in India or elsewhere’. You will hear only echoes of such words if
you go through some recent works on Ramakrishna published in the West. What is most important in all works for the
dissemination of Vedanta philosophy in its bearings on the idea of universal religion is to affirm, without any reservation, that this
ideal does not touch any religion as it exists but only urges a universal approach to all religions. By universal religion, Vivekananda
meant this mingling of faiths and he thought it was Vedanta, particularly Advaita Vedanta, which could bring about this mingling of
spiritual tunes in a grand harmony of faiths.

Question Description From the options provided below, select the one that comes closest in meaning to the phrase ‘grand harmony’ in the sense it is used
in the passage:

A magnificent consonance of faiths

B great concord of all religions

C impressive accord of religions

D awe-inspiring unison of all faiths

E None of the above

Correct Answer A

Marks 1



41 Question Description Who is the new Twitter CEO?

A Nikesh Arora

B George Kurian

C Parag Aggarwal

D Sundar Pichai

E None of the above

Correct Answer C

Marks 1

42 Question Description Where is the Railway Staff College located?

A Pune

B Allahabad

C Vadodara

D Delhi

E None of the above

Correct Answer C

Marks 1



43 Question Description The gas usually filled in the electric bulb is

A nitrogen

B hydrogen

C carbon dioxide

D oxygen

E None of the above

Correct Answer A

Marks 1

44 Question Description Ajaz Patel became 3rd Bowler to take 10 Wickets in an Innings, he hails from which country?

A India

B England

C Sri Lanka

D New Zealand

E None of the above

Correct Answer D

Marks 1



45 Question Description Cyclone Jawad, which has been in discussion, will hit Odisha, Andhra Pradesh and West Bengal, which country has named it?

A India

B Saudi Arabia

C Myanmar

D Pakistan

E None of the above

Correct Answer B

Marks 1

46 Question Description The world's first floating city is proposed to be developed in which country?

A Australia

B Netherlands

C France

D South Korea

E None of the above

Correct Answer D

Marks 1



47 Question Description ‘Vijay Stambha' is situated in

A Jaipur

B Agra

C Delhi

D Chittor

E None of the above

Correct Answer D

Marks 1

48 Question Description Which nation has announced the boycott of the 2022 Winter Olympics in Beijing?

A Japan

B India

C US

D Germany

E None of the above

Correct Answer C

Marks 1



49 Question Description The International Civil Aviation Day is being celebrated on which date?

A December 05

B December 07

C December 04

D December 06

E None of the above

Correct Answer B

Marks 1

50 Question Description Washing soda is the common name for

A Sodium carbonate

B Calcium bicarbonate

C Sodium bicarbonate

D Calcium carbonate

E None of the above

Correct Answer A

Marks 1



51 Question Description In each question below is given a statement followed by three assumptions numbered I, II and III. You have to consider the statement and the following assumptions, decide
which of the assumptions is implicit in the statement and choose your answer accordingly.

Statement: "We do not want you to see our product on newspaper, visit our shop to get a full view." - An advertisement.
Assumptions:

I. People generally decide to purchase any product after seeing the name in the advertisement.

II. Uncommon appeal may attract the customers.

III. People may come to see the product.

A None is implicit

B Only I and II are implicit

C Only II and III are implicit

D All are implicit

E None of the above

Correct Answer C

Marks 1



52 Question Description Choose the pair that best represents a similar relationship to the one expressed in the original pair of words.
SOUND : CACOPHONY

A touch : massage

B smell : stench

C sight : panorama

D speech : oration

E None of the above

Correct Answer B

Marks 1

53 Question Description A car travels the first half of a motorway journey at an average speed of 40 kmph, and the second half of the journey at an average speed of 60 kmph. What
is the average speed for the entire journey?

A 44

B 45

C 48

D 50

E None of the above

Correct Answer C

Marks 1



54 Question Description You have to decide which of the arguments is a 'strong' argument and which is a 'weak' argument.

Statement: Should all the drugs patented and manufactured in Western countries be first tried out on sample basis before giving licence for sale to general public in India?
Arguments:

I. Yes. Many such drugs require different doses and duration for Indian population and hence it is necessary.

II. No. This is just not feasible and hence cannot be implemented.

A Only argument I is strong

B Only argument II is strong

C Either I or II is strong

D Neither I nor II is strong

E None of the above

Correct Answer A

Marks 1



55 Question Description What number continues the sequence?
25, 50, 27, 46, 31, 38, 39, ?

A 55

B 22

C 30

D 24

E None of the above

Correct Answer B

Marks 1

56 Question Description Which word does NOT belong with the others?

A street

B freeway

C interstate

D expressway

E None of the above

Correct Answer A

Marks 1



57 Question Description Choose the pair that best represents a similar relationship to the one expressed in the original pair of words.

SLAPSTICK : LAUGHTER

A genre : mystery

B satire : anger

C mimicry : tears

D horror : fear

E None of the above

Correct Answer D

Marks 1

58 Question Description Pride is to lion as shoal is to

A teacher

B student

C self-respect

D fish

E None of the above

Correct Answer D

Marks 1



59 Question Description Which word does NOT belong with the others?

A guitar

B flute

C violin

D cello

E None of the above

Correct Answer B

Marks 1

60 Question Description Look at this series: 664, 332, 340, 170, ____, 89, ... What number should fill the blank?

A 85

B 97

C 109

D 178

E None of the above

Correct Answer D

Marks 1



61 Question Description Choose a figure which would most closely resemble the unfolded form of Figure (Z).

A 1

B 2

C 3

D 4

E None of the above

Correct Answer B

Marks 1



62 Question Description Oar is to rowboat as foot is to

A running

B sneaker

C skateboard

D jumping

E None of the above

Correct Answer C

Marks 1

63 Question Description passe is to outmoded as obsolete is to:

A stale

B superseded

C antediluvian

D vintage

E None of the above

Correct Answer B

Marks 1



64 Question Description Here are some words translated from an artificial language.
agnoscrenia means poisonous spider
delanocrenia means poisonous snake
agnosdeery means brown spider
Which word could mean "black widow spider"?

A deeryclostagnos

B agnosdelano

C agnosvitriblunin

D trymuttiagnos

E None of the above

Correct Answer C

Marks 1



65 Question Description Group the given figures into three classes using each figure only once.

A 1,3,9 ; 2,5,6 ; 4,7,8

B 1,3,9 ; 2,7,8 ; 4,5,6

C 1,2,4 ; 3,5,7 ; 6,8,9

D 1,3,6 ; 2,4,8 ; 5,7,9

E None of the above

Correct Answer A

Marks 1



66 Question Description Look at this series: 14, 28, 20, 40, 32, 64, ... What number should come next?

A 52

B 56

C 96

D 128

E None of the above

Correct Answer B

Marks 1

67 Question Description Look at this series: 0.15, 0.3, ____, 1.2, 2.4, What number should fill the blank?

A 4.8

B 0.006

C 0.6

D 0.9

E None of the above

Correct Answer C

Marks 1



68 Question Description Select a figure from amongst the Answer Figures which will continue the same series as established by the five Problem Figures.

A 1

B 2

C 3

D 4

E None of the above

Correct Answer B

Marks 1



69 Question Description What number should replace the question mark?

AVIATOR = 6
FIXTURE = 9
WIZARDS = 1
DIVERSE = ?

A 2

B 3

C 4

D 5

E None of the above

Correct Answer C

Marks 1



70 Question Description Find out the alternative figure which contains figure (X) as its part.

A 1

B 2

C 3

D 4

E None of the above

Correct Answer D

Marks 1



71 Question Description The price of a television was first decreased by 10 percent and then increased by 20 percent. The final price was what percent of the initial
price?

A 90%

B 98%

C 108%

D 110%

E None of the above

Correct Answer C

Marks 1

72 Question Description Find the statement that must be true according to the given information.

Rajiv is twelve years old. For three years, he has been asking his parents for a dog. His parents have told him that they believe a dog would not be happy in an apartment,
but they have given him permission to have a bird. Rajiv has not yet decided what kind of bird he would like to have.

A Rajiv parents like birds better than they like dogs.

B Rajiv does not like birds.

C Rajiv and her parents live in an apartment.

D Rajiv and her parents would like to move.

E None of the above

Correct Answer C

Marks 1



73 Question Description Look carefully for the pattern, and then choose which pair of numbers comes next.
36, 31, 29, 24, 22, 17, 15, _______

A 10, 5

B 13, 8

C 12,7

D 10, 8

E None of the above

Correct Answer D

Marks 1

74 Question Description In eight years time the combined age of me and my two sons will be 124. What will it be in five years?

A 110

B 115

C 117

D 118

E None of the above

Correct Answer B

Marks 1



75 Question Description In each question below is given a statement followed by three assumptions numbered I, II and III. You have to consider the statement and the following
assumptions, decide which of the assumptions is implicit in the statement and choose your answer accordingly.
Statement: "If you are intelligent, we are the right people for improving your performance." - An advertisement of a coaching institute.
Assumptions:

I. Brilliant students prefer to join coaching classes.

II. Coaching classes help the students to improve their performance.

III. No other institute provides such coaching.

A Only I and II are implicit

B Only II and III are implicit

C Only I and III are implicit

D All are implicit

E None of the above

Correct Answer A

Marks 1


